AP Physics – Newton’s Laws Test – 3 Ans
1. (20) What is the mass of a 335 N aardvark?
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2. (20) A ball falls straight down through the air under the influence of gravity. There is a retarding force F on the ball with magnitude given by  F = b v, where v  is the speed of the ball and b is a positive constant.   The magnitude of the acceleration a of the ball at  any time is equal to which of the following?
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3. (20) When you jump into the air, you push the earth away from you and the earth pushes you away from it.  How come (using Newton’s laws of motion) no one notices that you pushed the earth?
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(40) Two masses are connected by a light string which passes over a frictionless pulley as shown.  (a) What is the acceleration of the system? (b) What is the tension in the string? 
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(40)  The old mass on a ramp with a low friction pulley deal.  (a) Draw a FBD for each body.  (b) Find the acceleration of the system if the coefficient of kinetic friction between the 7.80 kg mass and the plane is 0.316.
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6. [image: image30.wmf]27.0

(40) A 1.50 kg chicken is suspended by two strings in the corner of a butcher shop as shown in the drawing.   The string on the right is perfectly horizontal and the string on the left makes an angle of 27.0( with the overhead.  Okay, (a) Draw a FBD for the chicken system.  (b) What is the tension in the two strings? 
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